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CLER || wrwifs | 7 2| > B || Wt | 7 2| o A
m m2 m2 m3 m2 m2 m3
NO.0 + 0.0 0.0 0.3 — — 0.0 — —
NO.0 + 10.0 10. 0 0.0 0.15 1.5 1.3 0. 65 6.5
NO. 1 10. 0 0.0 0. 00 0.0 3.3 2. 30 23.0
IP. 1 2.0 0.0 0. 00 0.0 5.1 4. 20 8.4
NO.1 + 10.0 8.0 0.0 0. 00 0.0 7.1 6. 10 48.8
NO. 2 10. 0 0.0 0. 00 0.0 0.4 3.75 37.5
NO.2 + 10.0 10. 0 0.3 0.15 1.5 0.0 0.20 2.0
NO. 3 10. 0 0.0 0.15 1.5 2.8 1. 40 14. 0
NO.3 +10.0 10. 0 0.1 0. 05 0.5 0.1 1. 45 14.5
NO. 4 10. 0 0.0 0. 05 0.5 8.3 4. 20 42.0
NO.4 +10.0 10. 0 14. 6 7. 30 73.0 0.0 4.15 41.5
NO. 5 10. 0 3.8 9. 20 92.0 0.0 0. 00 0.0
NO.5 +10.0 10. 0 0.6 2.20 22.0 1.0 0. 50 5.0
NO. 6 10. 0 0.0 0. 30 3.0 1.9 1. 45 14.5
NO.6 + 10.0 10. 0 0.0 0. 00 0.0 2.0 1.95 19.5
NO. 7 10. 0 0.4 0. 20 2.0 0.1 1.05 10. 5
NO.7 +10.0 10. 0 0.6 0. 50 5.0 5.0 2.55 25.5
NO. 8 10. 0 0.0 0. 30 3.0 10. 7 7.85 78.5
NO.8 + 7.49 7.5 0.2 0.10 0.8 0.1 5. 40 40. 5
7N i 167.5 206. 3 432. 2
S 206. 3 432.2
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m m m m2 m m m2

NO.0 + 0.0 0.0 0.1 — — 0.0 — —
NO. 0 + 10.0 10. 0 0.0 0.05 0.5 1.2 0. 60 6.0
NO. 1 10. 0 0.0 0. 00 0.0 2.8 2. 00 20. 0
IP. 1 2.0 0.0 0. 00 0.0 3.8 3.30 6.6
NO. 1 + 10.0 8.0 0.0 0. 00 0.0 4.8 4. 30 34. 4
NO. 2 10. 0 0.0 0. 00 0.0 0.5 2. 65 26.5
NO. 2 + 10.0 10. 0 0.3 0.15 1.5 0.0 0. 25 2.5
NO. 3 10. 0 0.0 0.15 1.5 2.5 1.25 12.5
NO.3 + 10.0 10. 0 0.0 0. 00 0.0 0.4 1.45 14.5
NO. 4 10. 0 0.0 0. 00 0.0 4.6 2. 50 25.0
NO.4 + 10.0 10. 0 7.6 3. 80 38.0 0.0 2. 30 23.0
NO. 5 10. 0 2.6 5. 10 51.0 0.0 0. 00 0.0
NO.5 + 10.0 10. 0 1.2 1. 90 19. 0 1.9 0.95 9.5
NO. 6 10. 0 0.0 0. 60 6.0 2.7 2. 30 23.0
NO.6 + 10.0 10. 0 0.0 0. 00 0.0 2.3 2. 50 25. 0
NO. 7 10. 0 0.5 0.25 2.5 0.2 1.25 12.5
NO. 7 +10.0 10. 0 1.5 1. 00 10. 0 4.7 2. 45 24.5
NO. 8 10. 0 0.0 0.75 7.5 6.1 5. 40 54. 0
NO. 8 +7.49 7.5 0.3 0.15 1.1 0.4 3.25 24. 4

7N i 167.5 138.6 343.9

S 138.6 343.9
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R JE 30emAT  FE B T
FAR i TR I88 + T ik 59 A 17.
A 30emA 1 60emA , F it T
FAR i TKI510 + T3 FHIE K5 A 15.
8 E60emLA_-90emA M, F it T
FAR i TKI814+ T FHIE K8 A 22.
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SEARM TR FHER V=n/4X ¢ 2Xh X f
MV, BB o, BiEh, f o BEREERIZ L A1R% (=0.5)
C<20cm, ¢6cm, h1l0m 0. 014m3/ A X 174 0.24
20ecm=C<30cm, ¢8cm, h10m 0. 025m3/4 X 184 0. 45
30cm=C<60cm, ¢ l4cm, h15m 0. 115m3/A X 174% 1. 96
60cm=C<90cm, ¢ 24cm, h20m 0. 452m3/A< X 154 6.78
90cm=C<120cm, ¢ 33cm, h25m 1. 069m3 /A X 224 23.52
120cm=C<150cm, ¢ 43cm, h30m 2. 17Tm3/ A< X 84 17. 42
150cm=C<200cm, ¢ 56cm, h30m 3. 693m3/ A% X 84 29. 54
/NEF m3 79.91
v 79.91%0. 8= t 63. 93
(> bEpEE  (79.91-0.24) *0.8%3/4= t 47. 80
(9 BFBER R 63. 93— F F47. 80= t 16.13
i HaE () V=0.9059+ (1. 4538% ¢ ) "1. 7235
M V. EERE : ¢
C<20cm, ¢ 6cm ¥ 0.014m3/A X 174 0.24
20cm=C<30cm, ¢ 8cm ¥ 0.022m3/48 X 184 0. 40
30cm=C<60cm, ¢ l4cm % 0.058m3/A X 174 0.99
60cm=C<90cm, ¢ 24cm ¥ 0. 148m3/A X 154 2.22
90cm=C<120cm, ¢ 33cm ¥ 0.255m3/4< X 224 5.61
120ecm=C<150cm, ¢ 43cm ¥ 0.403m3/48 X 84 3.22
150cm=C<200cm, ¢ 56cm ¥ 0.636m3/4< X 84 5.09
/it m3 17.77
iG] 17. 77%0. 8= t 14. 22
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